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LWTE-1B-L1 

Jeff is writing a poem called ‘In the Zoo’. Listen to the poem. Choose the 

best answer by blackening the circle. 

1 What can Jeff see? 

   

 A.  B.  C. 

2 How many birds are there? 

 A. 13  B. 15  C. 18 

3 The birds are ____ . 

 A. in the sky  B. in the tree  C. under the tree 

4 What are the monkeys doing? 

   

 A.  B.  C. 

5 Which pair of words in the poem have the same ending sound? 

 A.   B.   C.  
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Audio Script 

Jeff is writing a poem called ‘In the Zoo’. Listen to the poem. The poem will be played two 

times. When you hear a beep (beep), answer the question. You now have 30 seconds to read 

the questions. (30-second music) Now, listen to the first part of the poem and answer 

Question 1. The poem will begin now. 

 
 Jeff  : In the Zoo 

    Do you like going to the zoo? 

    There is lots to see and do. 

    I can see hippos. 

    I can see zebras too! 

Narrator : Question 1: What can Jeff see? (beep) (8-second pause)  

    Now, listen to the second part of the poem and answer Questions 2 and 3. 
 Jeff  : Look at those birds. 

    Wow! There are fifteen. 

    The birds are in the tree. 

    They are yellow and green. 

Narrator : Question 2: How many birds are there? (beep) (8-second pause) 

    Question 3: The birds are ____ . (beep) (8-second pause)  

    Now, listen to the last part of the poem and answer Questions 4 and 5. 
 Jeff  : Look at the cute monkeys. 

    What are they doing? 

    Are they sleeping or eating? 

    No! They are singing! 

Narrator : Question 4: What are the monkeys doing? (beep) (8-second pause) 

    Question 5: Which pair of words in the poem have the same ending sound? 

    A.  zoo and hippos 

    B.  birds and tree 

    C.  fifteen and green (beep) (8-second pause)  

    Listen to the poem again and check your answers. The poem will begin now. 

(Repeat [, , ] without pauses.) 

 

Answer Key 

1 A    2 B    3 B    4 C    5 C 

 


